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Session 2

Fluency Fifteen - Mastery - Session 2

January 05, 2021

1.79x7=55
2.1067 - 100 = 46"
3.71+02 =13
4.21x7 = U7

5. 2687 + 698 = 3382
6.12x11 =131
7.506+7 = 603
8.7/9-2/9 = 5/9
9.232x0 =0

10.0.2 +0.04 =0.2Yy
11. 52+2° =19

12. 2.127 x 1000 = 2121.0
13. 8825 + 7061 = 15250
14.1/6 +5/6 = G /G
15.8 x 800 = LLio0
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Multiply 4-digits by 2-digits o Rosie is calculating 2,541 x 42 | > 3G
Here is Rosie’s working. 70 8 2 (2541x2
8, 0, 6 4 (2541 x40)
12 1, 4 6

a) Rosie has made two mistakes. What are they?

Complete the multiplication.
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° Tommy is calculating 1,234 x 26
a) Complete his working out. 0722

o Work out the multiplications.

a) 4,284 x 23 b) 2,142 x 46
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b) Fill in the grid to check Tommy’s working is accurate. @ l z‘( | q | O] ? 5690
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o A machine makes 2,734 boxes every hour.
The machine works for 3 hours each day.

a) How many boxes will it make in 12 days?
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q) 2.0 < b) Compare methods with a partner. Were there any other ways

you could have worked out the answer?

O workousrsx7x12

Show your method clearly.
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a) Using all the digit cards, create 4 different calculations and work

out the answer to each.
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b) Write your answers in ascending order.

25200, 3348%,6603%,133 45

¢) What is the smallest product that can be made? I:

° Amir scores 4,680 points in a computer game for 12 games in a row.

Whitney scores 2,512 points every game for 24 games.

Who scores more points? AeniC
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25 | y
X | -2 |
"or“z- « 56%Co X 14 B 5%1&0
2o s~ 50293
: G8og 2% 3 %3
\ :‘ 28 % ow many more? 5_}?{“ 2 059 l(a'll__:l

5046

© White Rose Maths 2019




Untitled.notebook January 11, 2021

Goal Free Problem - Year 5 - Mastery

Ally and Jack buy some stickers.

Pack of 12 stickers 12 stickers
£10.49 99p each
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Stage: 5

List: 5

Name:

Ending ‘-cial’ and ‘-tial.” After a vowel ‘~cial’ is most common and *-itial’ after a consonant.
But there are many exceptions.
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Cover your spellmgs up. Can you add in the missing letters from E

. each word?
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Can accurately retrieve record and present
information from a range of texts some of the time.

Retrieve and record information / identify key details from fiction and non-fiction

Find the answers in the text.

1. In what county did the Battle of Hastings take place? S uSSZX
2. Who were the three men that laid claim to the throne?

\ 3. What was Harold Godwinson's previous title?

4. Where did the Normans land in England?

5. How many soldiers did William have in his army?

6. What did Harold use to protect his army from the Normans flying arrows?
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LO: To make notes and plan about The Battle of Hastings.
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